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FHIS 1 (UNIT 1)

qgUc POLYNOMIALS

é gel fddweu gex forfay (Choose the correct option):

1.

IgUS 4x2 + 4V3x + 3 T LIDI BT ANHA © —

(@) V3
(@) —v3

Sum of zero of polynomial 4x? + 4+/3x + 3 is -

(a) V3

3

© 7

4

0%

Y2, 98U 2% +x — 12 B YD BT OB B —

(@1) 1

@) -1

(|) 12

(]) -12

Product of zeros of polynomial x? + x — 12 1S -
(@)1

(b) -1

(c) 12

(d) -12

1 3id (1 Mark)

'''''''''''



3. Afd f(x) & A9OIH (x — 2) & d9 AT BN —

(4

@) f(2)
@) f(=2)
(&) £(0)
(%) fF()

If divisor of f(x) is (x — 2) then reminder will be -

@) f@
(b) f(=2)
(€) £(0)
(d) f)

4 T xt -9 D IR R -

(31) 3,3
(@) —-3,-3
(d) -3,3
(®)9,-9

Zeros of polynomial (x? —9) are -

(@) 3,3
(b) —3,-3
(c) -3,3
(d)9,-9

5. 9guq x? — 16 &1 TOETS § —

E)x+4H(x—4)
@ @x—Hx—-4)
A x+4)(x+4)
(]) s9H | PIs T8l




Factor of Polynomial x? — 16 is -

@ (x+4)(x—4)
(b) (x —4)(x — 4)
) (x+4)(x+4)
(d) None of them

Rex o= @ gt SifSg (Fill in th blanks): 1 3i® (1 Mark)

3. I P(x) =2x2+5x+4 81 Al P(2) &1 AT o BT © |

If P(x) = 2x% + 5x + 4, then value of P(2)iS ...................

4. fgerda sgue ax? + bx + ¢ & YADT BT TG oo BT 2|

. inquadratic polynomial ax? + bx + c, product of zeros is ...................

&5 98U x2 4 11x + 30 B ILIDI BT AMMHA oo BT |

In polynomial x% + 11x + 30, sum of zerosis ..................



T /3 ferRag (Write True / false): 1 3f® (1 Mark)

l.

&

. S = YT X AYhl + YRTHh,

5

3Tf?f [ SR U (Very short Answer question):

9 YNHA I B a9 ATSTd, IS Bl Y JUAEUS BT € |

When remainder is zero. then divisior is a factor of dividend.

Dividend = Divisor x Remainder +quotient.
IAYHS DI G, WIST F HH fheg AT & 31w Bl €|

Degree of remainder is less than dividend. but more than quotient.

2 3% (2 Mark) \\§ \
S B fs &1 g(x), P(x) &1 T OFRIvS & AT Te1?

g g(x) =x+4,P(x) =x?+2x—1

Check whether g(x) is a factor of P(x).

If g(x) =x+4,P(x) = x? + 2x — 1.

afe Aotd = 3x + 1, 9RThd = 2x — 1, 3%l = 4 & 99 95T AT B |

If divisior = 3x + 1, quotient = 2x — 1, remainder = 4 then find dividend.

af (x—1), g9 P(x) =x*+x+k &1 13 qoEwEws 8, @ K @AM B -

PITY |

If (x — 1) is a factor of polynomial P(x) = x? + x + k, then find the value of
K.

Rig HIRT 5 2x2 +4y?2 +3y+1) & (y+ 1) I 97 o7 R 9% T 2 |
(@ruwe i fafr @)

Prove that on dividing 2x? + 4y? + 3y + 1 by (y+1) the remainder is zero.
(By Remainder Theorem method.)

fgercha 9gug x2 — 8x + 15 &7 U WU 1 BIY |

factorize x> — 8x + 15




T SR U (Short Answer Question): 3 3@ (3 Mark)

I ggug x> —x+1 @ x + 1 ¥ 91T R A9RTHA Uq A% ST BT |
@ Divide the polynomials x? —x + 1 by (x + 1) Also find the quotient and
remainder.
2. o9 fefl Igus f(x) @ x2 — 9 | WrT feur oNar ® 99 A9%he 3x + 2 § e o«
1 9gue @1 (x — 3) A 4T {31 S 2, 99 Uuhel 1 8T ?
on dividing polynomial f(x) by x? — 9, we get remainder 3x + 2 , but when

f(x) is divided by (x — 3), what will be the remainder.?

3. fgerdg Igua 2x% —7x — 9D TIB! BT ATHA @ Ul A DI | \\§ \

find the sum and product of the zeros of following polynomial:- 2x? — 7x — 9
4. g &1 AF G B w6fs (x — 1) 9895 ax? — 5x + 3 &1 Uh PHEETS B |

Fnd the value of a, where (x — 1) is a factor of polynomials ax? — 5x + 3
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aI TR BT WP iAo

Linear Educations In two Variable
faweu g~ fafay (Choose the correct option): 1 3@ (1 Mark)
THiHRor ™ a;x + by = ¢y AT ayx + b,y = ¢, & o e sifgdg g B9
&1 Yferaer 28—

(W)Z—i=z—:=z—: (@) 37 & PBIg | %\

Condition for unique solution , in system of equation a;x + b;y = ¢; and

a,x + b,y =c,

(@) iairiais (&) None of these

Hﬁﬂ%“rgﬁm—(ax)k;tg (a)k;t;

@) k= -2 @k #—>

for a unigue solution, in system of equation x — ky = 2, 3x + 2y = =5 the

value of K should not be equal to —

@) k # = @ ke #2

@) k %= @ k #2



Raa <o @t gfch IS (Fill in th blanks): 1 3@ (1 Mark)

1. Rad FHHR B S el FURH EH TR STD o g B T
@ The lines representing a pair of linear equation are coincident then it has
.............. Solution.
2. g AHHROT b & ATl T fdg TR Ufesd dRal & Al SAD oo gl

. Ife G Rgd THNHRoT prg BT Bis i BT A8 © d9, STBT IMeig

BId 2|
The lines representing a pair of linear equation intersect at one points then the

linear pair has ............. Solution.

grfT |

If a pair of linear equation has no solution then the lines are ..............

R wm & gff SR (Fill in th blanks): 1 8@ (1 Mark)

. U N0 yefRfd BT drel §1 ORI b FHIBRUT B 3idd: 1P B B © |

The system of linear equation depicting coincident lines have infinite solution........

THERT 7x — 3y =p HXx =3,y =4I R p FITAF5 ¢ |

On putting x = 3,y = 4 in the equation 7x — 3y = p then the value of p is 5.
ﬂ?ﬁwﬁ‘cﬁmalx+b1y=c1aﬁ?a2x+b2y=c2ﬁ€r%1;r%‘ef%12—:¢z—:ﬁaﬁ
3ffgdia &1 U 81T |

On system of equation a,x + b,y = ¢; and a,x + b,y = ¢, if condition % =+

2

b . . . .
b—1 then a unique solution is obtained.
2



Jfr g ST ueA (Very short Answer question): 2 3P (2 Mark)
1. K& 99 9d SN afe ta w)at xar 2x — ky =9 fdg (1, —1) 9 orRdl 7|
@ Find the value of k if the straight line 2x — ky = 9 passes through the point
(1, -1).
2. 9t x=1y=1g @ A~ 7x —4y =p " p & 94 4 DI |
If x = 1,y = 1 then find the value of p from the equation 7x — 4y = p

3. YAl BT TG ®9 | forRay —
g AT BT AT 16 TAT IhT 3N 4 &7

Write the statement in the form of equation "The sum of two number is 16 and \§ \

difference is 4"

g S T (Short Answer Question): 3 3 (3 Mark)
. K@ &g 99 & forg aeiaxer Fam a1 sfgda ga e —
8x+5y=9
N kx + 10y = 15
Find the value of k for which the given systems of equation have a unique-
solution :
8x+5y=9
kx + 10y = 15
2. GHIHRU B DY —
2x +y =28
x—2y=-1
Solve the equation :
2x+y =28

x—2y=-1

10



3. IR0 frera &1 fada fafr | ga sifoie —
x+y=7

@ x—y=-1

Solve the following system of equation by elimination method

x+y=7
x—y=-1
4. THERV B B ufoRemue fafyy & g HIRTY —
x—y=-1 §
3x — 2y = 12 \§ \
Solve the following system of equation by substitution method
x—y=-1
3x — 2y =12
<" IR U9 (Long Answer Question): 6 3P (6 Mark)

A1, 31 AR BT SR 14 TAT 9D a1 BT AR 448 © | TG ST DI |

&
&
5
&
&

The difference of two numbers is 14 and the difference of the sum of square :
of the numbers is 448 find the numbers.

2. us fyst ABC#H LA = x%, 4B = 3x° wd 2C = y° &1 afs 3x° — 5y° = 30°
B 99 RIg 1Y b I8 U FHIT Y & |
In a triangle ABC 2A = x°, «B = 3x° and 2C = y° if 3x° — 5y° = 30°

then prove that, this is a right triangle.

qI AR BT ANT 25 TAT IS hAl HT AN 1/4 | =AY ST DI |
The sum of two numbers is 25 and the sum of their reciprocal is 1/4 then Find

the numbers.

11



. G G BT qUHHA 45 TAT BT AT 14 &, AN AT DI |

The product of two numbers is 45 and their sum is 14 find the numbers.

&1 3T aTell Yb AT BT 7 A1, AT BT Tefler R g+ arell F&T & 4 AT & a_ER
g TAT AR & BT BT INT 3 & | 98 AT SMa DIy |
Seven times a two digit number is equal to 4 times a two digit number obtained

by reserving the digits and sum of the digits is 3 find the number.

o) A O AR Mag g Sy —

x+y=10,—x+y =4
Solve the system of equation by graphical method \\§ \
x+y=10,—x+y =4

. UE 9y gd WY SMY AR Y DI MY DI AT ol | &9 9y q1e W) MY YA Dl A Dl

S B SRR | A g W gF B aaEe STy Sd S |
Five years ago, | was 3 times as old as my son. Ten years later, | shall be 2

times as old as my son. Find the present age of mine and my son.

12



Th oR BT fgard THieRor

Quadrate Equations in one variable

g |l famey gax fRay (Choose the correct option): 1 3@ (1 Mark)
L. fgama wfexer ax? 4+ bx + ¢ = 0 & Tl &1 ATHS BN —
b b
®) —- (@) -
a a
(%) b () — 4

The sum of the roots of the Quadratic equation ax? + bx + ¢ = 0 will be %\

Eg @~ (b)2

a a
(c) (d) -2
2. fgard ¥R ax® + bx + ¢ =0 & o =g G 2
—-b*VbZ-4ac —aXVvbZ-4ac
(@) x = @ x =
2a 2a
—-b*Vb2-4ac —aXVvb2-4ac
@) x = ) —x =
S 2a 2a
The formula for the roots of the quadratic equation ax? + bx + ¢ = 0 is —
-bXVbZ-4ac —atVbZ-4ac
@) x = @ x =
2a 2a
—btVaZ-4bc —atVbZ-4ab
) x = @) —x =
2a 2a

3. T B o & fgard aHieer g
@) x% + (< +B8)x+x B =0
x? + (<« —B)x+x f =0

)
, @) |
@) x* — (x +B)x+x =0 Jows
@) x?2 = (< +B)x —(x ) =0

4

13



The quadratic equation with roots « and is £ -
@ x? + (< +B)x+x B =0
(b) x* + (< =B)x+x B =0
©) x? — (< +B)x+x B =0

d) x%2 — (< +B)x — (xB) =0

. fgama afeRor 3x%2 + 2x + 7 = 0 & HAl & OB g

14



Rea <o @ gfch SIS (Fill in th blanks): 1 & (1 Mark)
1. o FHIERT & SThAH Hell Bl T o Bl 3 |

2. feard afiexor § =R If &) SifSedd T BT B

In a quadratic equation the highest power of the variable is ..................
3. Ifg foves D < 0 =1 a1 fgard FHaxvl & el & IR o BT |
If in a quadratic equation the Discriminant D < 0 then the nature of the roots %

of the equation will be ----------------

4. fgera IR ax? 4+ bx + ¢ = 0 & foQ faviess (Rfdaeadx) &1 919 ... g

Discriminant of the quadratic equation ax? + bx + ¢ = 0 iS =-------------

5. @it wftewor 2x% —4x +3 =0 & A BT ATHA oo BT |

The sum of the roots of the quadratic equation a2 — 4x + 3 = 0 IS ------------

T /39 fafae (Write True / false): 1 3@ (1 Mark)
. oot afexor ax? + bx + ¢ = 0 &1 favgs D = b? — 4ac 2|

In a quadratic equation ax? + bx + ¢ = 0 the Discriminant D = b? — 4ac.
2. T FHIGRY BT [a9ad BT A9 IR 81 A1 ol dIKiided Ua FA49 814 o |

In a quadratic equation, the value of the Discriminant is zero then its roots will

be real and equal.
3. it FHHRT & SMfddan &7 ot BId 2 |

The maximum number of roots of a Quadratic equation is two.

15



4. qif g x2 —7x =0 ®1 8 0 3R 7 €|

The solution of the Quadratic equation x> — 7x = 0 is0and 7

@5- aﬁwﬁwax2+bx+c=0$1c4iav‘rguwmmgsmé‘l

Product of the Roots of the Quadratic equation ax? + bx +c =0 isg

Jfc oy S ue (Very short Answer question): 2 3f® (2 Mark)
I Ko fa a9 & fog afiaxer Kx? +4x + 1 = 0 & 1 9”dfdd g a_IeR 81 ?

For what value of k of the quadratic equation kx> + 4x + 1 = 0 the roots are %
-o:: real and eaual. W\

Form a Quadratic equation whose roots are 7 and 4.

3. fgama wfeRor 3x2 +2x +7 =0 & Hell BT ANTHS G [OFHA ST BT |
Find the sum and the product of the roots of the Quadratic equation 3x?% +
2x+7=0

£4 2x+3)Bx—7)=0 % a1 T PRV
Find the roots of the quadratic equation (2x + 3)(3x —7) =0
5. fgama wexv x2 + 16x + 64 = 0 &7 faved SId BN |

Find the Discriminant of the Quadratic equation x? + 16x + 64 = 0

Jifr g Sy ued (Very short Answer question): 2 3f® (2 Mark)
1. fgama afieRo x2 —4x + 4 = 0 & Hell BT Jofa S BIRTY |

)

find the nature of roots of quadratic equation x* — 4x + 4 = 0

2. fgend wHiaxer 9x2 — 7x — 2 = 0 &1 &1 BIRIT | (g3 fafdr )

Solve the quadratic equation by formula method 9x? — 7x — 2 =0

16



3. fgara FHeHR 918y RS Jal &1 ANTH 5 3R UG 6 & |
form a quadratic equation whose sum of roots is 5 and product is 6
@4- fgema afiaxer 3x2 — 11x + 10 = 0 &1 [oHwEve fAfy gRT 8 BIRT |
Solve the quadratic equation 3x2 — 11x + 10 = 0 by factor nation method.
5. fgerd e~ x2 — 6x + 5 = 0 & gof avf Ay 9 g SR |

Solve the quadratic equation x? — 6x + 5 = 0 by perfect square method.

\/6+\/6+\/ﬂ ————— 3T 5 BT
L Solve\/6+\/6+\/ﬂ —————

7. fRard @@ a5t e a6 + V5 @ 6 — /5 §)

form a quadratic equation whose roots are 6 + v/5 and 6 — V5

N

e ST U9 (Long Answer Question): 6 3® (6 Mark)

S

AL IS T I=AT IR ISP cg@Hl'WWZ%%Iﬂ?WWWI

If sum of a number and its reciprocal is 2 % then find the numbers.

2. T GANTT Uhd ARl & o &7 T 85 &, Ay S HIfoTy |

The sum of square of two consecutive natural number is 85 then find the

number.
3. Ud Ifdd @ 9 I, S9d IF @) IAM MY B O & RER 7| Al 1 9y uge
I G BT MY IS GF BT MY BT 8 1 o AT ST I A 3R S DI |

If Father is present, age is equal to the square of his son's present age. If one

year ago his age is 8 times his son's age then find their present age.

17



-

U IMIATHR Wd BT URATT 82 HIeX & T IHBI &Tho 400 I WX € | Wd I ol T
g diers S BIY |

The perimeter of a rectangular field is 82 meter and its area is 400 sg. meter
find the length and width of the field.

TR 5 99 YF @I AMY AT 8 ¥ Y Bl MY BT VMG 40 | q9 A qAHA Y A1
BT |

The product of my age 5 years ago and 8 years ago is 40 then find my present

age.
FHIDHRUT Bl DITSTI—
x+1_x—1=Ex¢11
x—1 x+1 6’ ’
Solve the equation —
x+1 x—1 5

—,x* 1,1

x—1_x+1=6

18



gHiaR AT
ARITHMETIC SERIES

&

el fddwey gex forfay (Choose the correct option):

1. YA 10 UTdhd HM8I BT ANTHS SN —
(31) 65

(9) 55

@) 45

(2)55

The sum of first 10 natural number will be —

@) 65 (b) 45
% () 55 (d)s5
2. /3+1 aR3—1 & TR q4eg o
(e1) 1 @ V3
(@) 3v2 (@) 23
The arithmetic mean of v3 + 1 and V3 — 1 is
@ 1 (b) V3
€) 3v2 d) 2v3
3. SN 71319 @1 5 df g I —
(31) 38 @) 33
(%) 31 (@) 37
The 5¢" term of series 7,13,19 ..................... will be
@) 38 (b) 33
(c) 31 (d) 37
4. JATAR S 511,17 BT IR &—
(e1) 7 @ s
(&) —6 @) 6

19

1 3id (1 Mark)

N



common difference of A.P. 5,11,17 .......... 1S

@ 7 b) 5

@ ) —6 d) 6

5. afe ) AR A< &1 UH g a 9T graeiak d 8 99 N 9 Ug T °19 BN —

@ a+n+1)d @ a+n-—1)d

@d+n+a)a @ d+(n—a)a

nt" there of an A.P. whose first term is a and common difference is d is

@a+m+1)d 0) a+ (n—-1)d

c©d+n+a)a dd+(n—-—a)a

R wm Y 9ff SR (Fill in th blanks):

. adar b & 99dR AT =
The arithmetic mean ofaand bis ............... .
A2 s@endive Bn—1)8d2rdiug .. BT |

N

1 3@ (1 Mark)

If nt" tterm of the series is (3n — 1) then 21%term will be ............... :

3. (x+7) T (x — 7) BT AHR A oo =

Arithmeticmeanof (x +7) and (x —=7) is ............... :

4. A 71217.22...... BT A2 AT UG . BT |

121 term of the series 7, 12, 17, 22...... willbe ............

5- Ife gorg a ue qr 3ifeg gg [ 8 a1 N uel BT A .

If first term a , and last term is [ then sum of n terms will be ............. .

20



T /38 ferfaq (Write True / false):

1.

1 ¥ 10 9% WgHd G BT ANTH 57 BT & |

The sum of natural number from 1 to 10 is 57.

O |-
NN IEN|

4 . 28
—,— P 10 d UG BT AT — 2|
9 9

. 1 4 7. 28
101 term of series =, =, = is =
9°"9°9 9

1 1 .
EK_‘TQJT—EEWQ:IH(‘NWQ"Q g|]|||

. . 1 1 .
Arithmetic mean of 5 and — 5 will be zero

: m+n
m&_'f?/'lTnEb—fQ:ll:l(‘N‘:lTwT 8ITT |

m+n

Arithmetic mean of m and n will be —~

2468.. P 10 d U BT A 20 T |

Afr g S U (Very short Answer question):

JHIAN AT 4,7,1013........... BT 10 I U ST BHIFIT |

In A.P.4,7,10,13........ find 10™ term.
FATGR AT 2,6,10.... BT M I S ST DI |
Find the m™ term of an A.P. 2,6,10.....
IR 21T 9,51,—3. BT 11 df UG ST P |
Find the 11" term of an A.P. 9,5,1,-3........
4x T 6x BT FHIGR HIET ST BITY |

find the arithmetic mean of 4x and 6x
100,70,40..... BT 51 df Ug ST B |

Find the 51%tterm of 100, 70, 40....

21

1 3% (1 Mark)

2 3P (2 Mark)

N



oY SR U (Short Answer Question): 3 3i® (3 Mark)

l.

ST 9,12,15.... B 10 UG BT ANTHS ST HIFY |
Find the sum of 10 term of the series 9, 12, 15.......
SIGT 27,24,21...... BT DI AT U I AT ?

Which term will be zero of the series 27, 24, 21...... ?

AT 3,813 253 ¥ 2ifcH | 10 97 9 S1q PITT |
Find the 10" term from the last of the series 3, 8, 13....... 253. ,
0 ¥ 50 & HeY WU fAuH TR BT ANTh ST BT | \\k\

Find the sum of all odd number between 0 to 50.

e ST 999 (Long Answer Question): 6 3i® (6 Mark)

100 3R 200 & 9/ &1 fAyA FEARN &1 ANTHA ST DI |

Find the sum of all odd number between 100 and 200.

fep—iY #1d1 & Terd 7 URT BT AT 49 © AT U 17 URI PT AT 289 © A4 A D n Udl
BT ANTHE ST DI | |

The sum of first 7 terms is 49 of an A.P. and sum of first 17 term is 289 then
find the sum of n terms.

Ife fhedl 9 &1 gom, fgda o sifdw ug maer a, b3k 2ae af o1& & N Ul &r
Tl STl bIfoTY |

If first, second and last terms of an A.P are a, b and 2a respectively, then find

the sum of the n term of the series.

22



4. 3Ifg a, b, ¢ ol wHaR o1t & wwer pd, g4, rd ug &, @ Rig ifoe fF —
a(@—=r)+b(r—p)+clp—q) =0
@9 If a, b, c are P, Q™ and r" term of an A.P. then prove that ;
a(@—=r)+b(r—p)+clp—q)=0
5. af ue ARk oo &1 Paf ug q donqaf ug p & o Rig &INT (p + q) @ g g
BT |

If P term is q, g™ term is p of an A.P. then prove that (p + q) term will be\\§ \

ZEro.

23



ST Td HHAGIT
RATIO AND PROPORTION

&

gel fddweu gax forfay (Choose the correct option):
1. AT ab:ic:d 81 a1 F=AfeTRaT o | &I |1 |y 9 &7

(31) ad=bc
(@) ab=cd

If a:b::c:d then which of the following is correct?

(a) ad=bc
(b) ab=cd
(c) ac=bd
(d) None of the these
2. ab:c B AT HEIIURI w1 BITe

£ (@) b% = ac
: @) c? =ab
@) a® = bc
@) s & B &I |
If a:b:c then the mean proportional will be?
(a) b* = ac
(b) c* = ab

(c) a® = bc

(d) None of the these

24

1 3id (1 Mark)

'''''''''''



3. T 6:x::x:54 81 A x BT AF ERIT?
)

5

N

3
) 6
) 9

)

)

) 18

If 6: x::x:54 then value of x will be?

(a) 3
(b) 6
(c) 9
(d) 18

4. 6:10 :: x:25 & x &7 99 BATT?
@) 20

() 30
The value of x is in
(@) 20
(b) 15
(c) 25
(d) 30
.,'5. a1 o Ul BT FET 5
o (@) s\ (@) aiguTd ({) i (<) BT

The relation between two equal ratio is —

@) proportion (b) Duplicate ratio (c) inverse ratio (d) Triplicate ratio

25



Raa <o @t gfch IS (Fill in th blanks):
1. 12 AT 6 BT JARFIAT oo BT |
@9 The third proportional of 12 and 6 will be ..........
2. ST HICR UF 50 HHL H o 3T B |
Ratio between half meter and 50 cm is .............
3. 814,16 BT AGATTURI oo BT |
Forth proportion of 8, 14, 16is .................
4. 7321 BT IGATTURI oo BT |
HE Fourthtermof 7, 3, 21 will be ............
5. I arb:c AT D B o ®ed T |

Ifa:b:cthenbiscalled............

T /38 ferRaq (Write True / false):

1. 5 T 10 BT JAFTIURI 20 BIIT |
Third proportion of 5 and 10 will be 20.

2. T Jod UGl &) ol FHIUT T8 e ¢ |
The ratio between two equal ratios is not known as proportion.

3. ?Tf%%=%€r?ﬁb=acgﬁrrl
12 =2thenb=ac
b c
-4' ny’leyz WWW% g

forth proportion of 2xy, x2, y? is =

26

1 3% (1 Mark)

1 3@ (1 Mark)



Jfr g ST ueA (Very short Answer question): 2 3f® (2 Mark)
1. 75 . &d U QRIS Bl 3:5:7 D AT H I HIT B R U A1 DI dAdrs fbal

@ grfi?
If a 75 cm. long, line segment is divided into three parts in the ratio 3:5:7 then what will
be the length of each part.

2. 6 3R 54 HT FATIURN ST DI |

Find the mean proportion of 6 & 54.

3. Ife 14:35:16:x BT A x BT T ST BT |
If 14:35 :: 16: x then find the mean value of x. \\§ \
4. A 20 AT BT ed 783 T. BT A 2214 % H e RS fer |

If the cost of 29 book is Rs 783 then how many books can be purchased in Rs 2214

oY SR 9% (Short Answer Question): 3 3Pp (3
Mark)
A1 IR adiR ber wearguRh b el Rig #IRY &
\\\ a’?+b? a+c
ab b

If b is the mean proportional of a and c then prove that
a’+b*> a+c
ab b
2. AT 10, 18, 22, 38 H W UdH H&T H &1 SISl oMY b A WA FHURI & Q2

What should be added to 10, 18, 22, 38 so that they become proportional?

3. PRl i o 01 el 15 @R0E Bl 18 Rl e 81 R @Rk s ar b G
| 9T BT 15 & § R IR |l =7

15 men complete a Task in 16 days. How many men will be needed to complete 1/4rth of
the task in 15 days?
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4. Ife 11 gbfSAT 11 AT § 11 ST 9971 & 7 9d1SU 1 Hbs! 1 OTT g9 § fbad faq

o |

@ If 11 spider spin 11 webs in 11 days then how many webs, will one spider spin in one

day?

Qe IR 999 (Long Answer Question): 6 3P (6 Mark)
1. If% ab:c:d & ar Rig #ifog s —

az—cz_ac
b2 —d? bd

If a:b::c:d then prove that -
a® — c? _ac
b2 —d? bd

2. < T A3IR BT SHl Bl HAI: 30 3R 40 A7 § R Tdhd & | IRRT 9 C 99 <l
BT 60 A9 H WTell B AhdT B | Il dH1 T TP AT Wil AU S0 af SHT bl IR

H foham |wa o |
\C Two taps A and B can fill a tank in 30 minutes and 40 minutes respectively. A third tap ="
£ C can empty the tank in60 minutes. If all there taps are together. How long will it take the :
to fill up?
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SHIS 2 (UNIT2)
fcenie <fafa
Co-ordinate geometry
CICIC]

Graph

w8l fdwer g~ fafay (Choose the correct option):

1.

fdg (-4, 7) Fdene @9da & fba aqgufe H s —
(31) v =gt

(@) fe<ira =rgerier

(w) qefra argertar

(7) =gt wrqater

Point (-4, 7) lies in which quadrant -

(a) First quadrant

(b) Second quadrant

(c) Third quadrant

(d) Fourth quadrant

fig A(4,5) @I Y-31&T ¥ o aq g3 © —
(31) 4

@) 5

(%) 0

(@) =¥ & BIg el

The perpendicular distance of the point A(4, 5) from Y-axis is -

(a) 4
(b) 5
()0
(d) None of the above
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3. qo fig & fdena € -
(%) (0,0)
@» @ (x,0)
(%) (v, 0)

) (o)
Co-ordinate of the origin is -

(@) (0, 0)
(b) (x, 0)
© (v.0)

% (A (x,)
4. X y=7x—5® e & —

() 7

@ 1/7

(®) —5

(?) —1/5

Slope of the liney = 7x — 5 iS -

2 4

4

S (@7
(b) 1/7
(€) -5
(d) -1/5

Rea T &Y gfch SIS (Fill in th blanks):

1. fd500,5) i, Tqater # Rerd 2|
Point (0, 5) lieson ..........ocoviiiiiiiiiiinn. axis
2. &S YT B YT oo BT B |
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3. X-318 R Rera fodl f[dg &1 y Ao BIAT 2 |

The Y Coordinate of a point situated on X-axisis .............c.coeeuvennn.

@? A it B wer Rig @ P 2|
The Intersection point of both the axisis called ............................
5. g fell g & Qe (-4, 0) 81 AT T G o 3T IR Rerd B8R |
If the Coordinate of a point is (-4, 0) then this point will be situated on
........................... axis
qﬂi/?ﬁw faRag (Write True / false): 1 3@ (1 Mark) \\§ \

Y-31eT R Rera fefl fig a1 wife 3= 8l 2

The Ordinate of any point situated on Y-axis is Zero.

2. X-37&T AT Y-30T IRER THdd 8 & —
X-axis and Y-axis are mutually perpendicular.
3. UP O @ fId] 3Tl m iR y 3187 | dIel AT $id-Es ¢ & al IHiax y = mx +
& ¢ By
The situation of the straight line whose slope is m and the intercept cut on Y-axisis y = :

mx + ¢

4. i fHM g & Fcwns (8, 0) € a1 I8 fdg X-a1&7 W Rerd grm|

Of the Coordinate of a point is (8, 0) then this point is situated on X-axis.
5. wa fig & fden®s (x,y) 21
, The Coordinate of origin is (x, y)

5, ]
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oY SR U (Short Answer Question): 3 3i® (3 Mark)

1.

fag (0,0) e (5,3) @ 9= & & AT DI |

@ Find the distance between of the point (0,0) and (5, 3)

2.

ol g 9 Bax S arell 39 Y@ @ gavrar 9 sife ot fdg (—3,5) & ot Sl
g |

Find the slope of the the straight line which passes through the origin and also pasees
through the point (-3, 5)

T T g (1, 2) 3R (5, 10) I [oRT & $HDT BT 1T DI |

Find the gradient of the line, which passes through (1, 2) & (5, 10).

WA X 5x+6y=7 d y=mx+c & w7 H faRgy qen 3@ & ara an
y —3e W AAFUS Fd BT |
Express Straight line 5x + 6y = 7 in the form y = mx + ¢ find the gradient and g

intercept.
e IR 999 (Long Answer Question): 6 3i® (6 Mark)
£ y —3eT TR T V4T g s A it figait A(6,5) 3R B(—4,3) ¥ TR B
Find the coordinate of any point on Y-axis which is equidistant from the point A(6, 5) and
B(_4’ 3)
2. ¥AYT 300 ®II W 5 YR 9Iffe &1 B R W 1, 2, 3, 4 9 5 94 & oIy ARIROT

7ot forer arofly § uefRig 2

I (@¥ H) 0 [1 |2 |3 |4 |5

AR 1ol (S0 H) 0 |15 |30 |45 |60 |75

Y IR IR Tl & g9 3MTeiRg G |
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The simple interest on principal Rs 300 at the rate 5 per annum for 1, 2, 3, 4 and 5 years

respectively are shown in the following table

Time (In year) 0O |1 (2 |3 |4 |5

Simple Interest (INnRs) |0 |15 |30 |45 |60 |75

Draw a graph between time and simple interest.

Uh IRIR H 5 g ddb SYANT fhT U S &7 97 fSar § = arof § &) 13
S

NASIN 1 12 (3 |4 |5

N

oot & 7T (B ar) |1 (2 |3 |4 |5

TS TAT SUANT {HU T TS BT 7T & a9 3Meid I |

Quantity of onion (In Kg) used by a person for 5 weeks are given in following table

Week 1 12 (3 |4 |5

Quantity of Onion (InKg) (1 (2 |3 |4 |5

Draw a graph between week and quantity of onion used.

AT BT UH Yol BT AU T I 1 & YRAY PN ARV § JeRia far mar g —

a1t BT Yo (JH1. H) 1 |2 |3 |4 |5 |6 |7

g @ aRATg (FHL H) (4 |8 |12 |16 |20 |24 |28

it BT Yol T URAM & 41 3TTelg WIfey |

Length of side of squares and perimeters are shown below in the table

Side of square (In cm) 1 12 (3 |4 |5 |6 |7

Perimeter of square (Incm) |4 |8 |12 |16 |20 |24 |28

Drawn a graph between side of square and its perimeter.

33



&

SBIg 3—aIorSyg Iford

UNIT 3 - Commercial Mathematics

el fadeu gasx fafy (Choose the correct option): 1 3@ (1 Mark)

1.

Al |Tafy ST Gl H TS @1 T SHTET SER UR 6l Sl & af a1 g% &l forar
ST =Mfeq —

(&1) ST

(@) Rer |
(%) amem %\
() =R T

If in fix deposit the intersect is calculated half yearly the rate of interest will be taken :-

(a) Double

(b) Three times

(c) half

(d) four times

I AR 3000% R R IUPR 3% BT TR F BAT —

''''''''''''

What will be the education cess 3% in taxable income is

(a) Rs600
(b) Rs900
(c) Rs60 ‘L—‘

(d) Rs90
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3. I |rafd SHT @rar | 99T B AR fhar Srar 2 df a1fie el a1 g% B ot ST
=MfRT —
(a1) e

@ CRCCIRIN

(%) =R T
(3) ST
If in Fixed Deposit times is taken four times then annual Rate of interest will be taken :-
(a) Half
(b) One fourth o
(c) Four times \\§ \
(d) Double

Rea <o @ gfcf HifSig (Fill in th blanks): 1 3@ (1 Mark)

1. SMIaR fOTT gRT Ud® fdd ART AT HUAI BT & TS USAR FET BT o
......... HEA T |
Every individual, farm and company has given an identification number by income tax

& department is kKnows as ...

\\2 8T SUBR, TTPR TR oo Tfrerd | e IR ST © |

Educational cess is calculatedon ....................... on tax payable.

3. I I # v& fEd g & oy Uahged iy S &1 SRl € A1 S
.... STHT QT HEd & |
The account in which the amount deposited for a fixed time is called is .......................

4. Sl ST @I H AT DI TN BT GH oo =l

The formula of calculating interest in recovering deposit accountis ....................
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T / 38 ferfaq (Write True / false): 1 3@ (1 Mark)

1 IR W =1 BT T BT S 2 9 Ased FEd 2

The sum of money in which interest is calculated is known as amount.
o af &1 UR9 1 3 & BN B |

Financial year starts on 1% April.

o a9 @) it 31 A @1 Bl 7|

Financial year ends on 31% march.

dpr F T @l @ forw PAN &1 891 199 2

To open an account on a Bank PAN is must.

e IR 999 (Long Answer Question): 6 3@ (6 Mark)

1.

IEHT A Tl WEdNI dF | 100 ®IY RIS &1 10 99 & foTg SMMadi ST ErdT @ielT |
AT 38 9% §RT AT I AR 3025 5. UG DI ST 2, Al Aol bl & fdha= uferer
e grfi?

Padamani opened a recurring deposit account in district cooperative Bank for ten year and

N

her monthly installment is Rs 100. If on maturity, she gets Rs 3025 as interest. What is

the rate of interest per annum?

IMT = USITd S 9cb | 200 T UHTE & X W 5 99 & v 3aci! STHT T @ieT |

IfS AT DI &R 6% TS BT A 5 I UTaq S o+l g=RIRT e sRf ?

Reshma opened a recurring deposit account in panjab national Bank for the rate of interest
IS 6% per annum then how much money will she get after 5 years.

SR = 20000 © 1 99 & foIy <A@ <A1 WA § SHT HR1A7 | afe & @1 &% 10%
Iy & qAT AT BHIET FAMSId 81dT & df = fafr gward e arell g==ifer fhas
BIT?

Sri Ram deposited Rs 20000 for 1 year in a fixed deposit account. If the annual rate of

interest is 10% per annum and the interest is compounded every six month then what

amount will Sri Ram get after due date.
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4. faRger T 96 # 1 99 & forw 10000 © WA STAT WId H STAT HRdT 8 | Afe ol B
TR 8% Ufay B dAT ST IATSI g dIfi¥e =l, al FRae & Irafdy Sar @ § ST

@ RIRT BT URYFEdT Hed STd DIy |
Nikhil deposited Rs 10000 for 1 year in a fixed deposit account in rural Bank . If the rate

of interest is 8% per annum and compounded semiannually, then find the maturity amount

in nikhil's account.

5. TR a9 2013—14 H Yo MG HHARI B ol alibd T 3600005 AT | SHT 20000

% S dH41 UTfer™il T d1ites WAH TAT 4000% UlcHTE A= wiasd fHifer # S faa |

T JAMIB BT ITOET HIFTT |

e SMIPR MM & gd Ay Afas [ vd Sigq dmr snfe # Hfsa i & \x\
3TfIHTH 100000 T HR Had & |

IMTFR B X TR & —
% @R IR AT IR P!
1 | 200000% & DIS JAMAD el
2 200001 ¥ 500000% TP 10%
3 | 500001% H 1000000% T | 20%

& The income of a government employee in the financial year 2013-2014 was Rs 360000.
She deposited R20000 as premium on life insurance policy and R 4000 every month in 4
general provident fund. Calculate the payable tax

Also, a maximum of R100000 of savings under provident fund, life insurance and national
savings certificate are exempted from tax.

the rates of tax are as follows

S. | Tax Limits Rate of tax
No.
i 1 Upto Rs 200000 NIL
2 Rs 200001 to Rs 500000 10%
3 Rs 500001 to Rs 1000000 | 20%
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foriar a 2012—13 W& &1 Gl af¥d MM 5,25000 % 7 | 98 AR Afasg (A1 3§ 8000%
GfHTE ST HRAT © T 8000% 310+ YR Sitas §14T BT aifffe MfAw <1 & | 3MIas
# ge 9l 99d 93 &1 100% @eread W 100000 ) B A HeH & §RT I IMMIDBR
@1 IO BIFTY |

AP DI &N FHTIAR & —
b PR AT AT JMIIPR &l &R
1 2000009 TH PIg AP el
2 | 200001 ¥ 500000% ddH 10%
3 | 500001% ¥ 1000000% d® 20%

D SIIRGT ST IS TR 3% el USRI TaT 2 | \\x\
Sakshams total annual income in the financial year 2012-2013 was Rs 525000. He
deposited Rs 8000 every month in GPF and of Rs 8000 annual on life insurance policy.
Maximum savings permissible is 100% under all schemes (up to Rs 100000) then
calculated the tax payable by saksham at the end of the year where the educational sub

tax is 3% of the payable tax

S. No. Tax Limits Rate of tax
1 Upto Rs 200000 NIL
2 Rs 200001 to Rs 500000 10%
3 Rs 500001 to Rs 1000000 20%
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L.

SHIS 4 — P

UNIT 4 - TRIGONOMETRY

fdweu g~ fafay  (Choose the correct option):

1+ tan?6 &1 a9 & —
(a) sin’6

(b) cos?8

(c) sec?6

(d) cosect

The value of 1 + tan?@ is -
(a) sin’0

(b) cos?6

(c) sec?0

(d) cosect

sin?36° + cos?36° &1 AF BRI —
() V2

(b)1

© 3

(d) 4

The value of sin?36° + c0s236 will be -
() V2

(b) 1

(c) V3

(d) 4

39
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3.

sin63°

C0S27°
(@0
(b)-1
©1
(d) 2

HTHAME § —

sin63°

The value of
c0Ss27°

(@)0
(b)-1
©1
(d) 2

sin30°
2 BT 919 BRI —
c0s60°

(a) 4
(b) 3
(€) 2
(d)1

sin30°

c0s60°

The value of 2 will be : -

(@4
(b) 3
(c) 2
d1

sin(90 — ) . cosec(90 — @) &T AN BNIT —
(a) 1

(b) 0

(c) 2

(d)-1
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The value of sin(90 — 0) . cosec(90 — 0) will be

Rea o= @ gt SifSg (Fill in th blanks):

L. sin20 +cos?0 =.......................... e 0°< 6 <90°
Sin%6 + cos?0 = If 0° < 6 <90°
2. 14 cot?0 =
14 cot?0 =
3. 3 tanlS°Eb_r T |
pprmmrl B L1 P Kl
tanl5°
Value of 3 IS ettt
cot75°
4. c05(90° — 67°)DT HTT oo ST |
The value of cos(90° — 67°) 1S .......oiiiiiiininiiinn
5. c0oSO X SecO BT AT oo, ST |
Value of C0SO X secO willbe ........coovveeeiii,

9 / 3raa fafRgu (Write True / false):
1. (1—cosO)(1+ cosO) = cos?0
(1 — cos8)(1 + cosO) = cos?6
2. tan(90 — ) = coth
tan(90 — 6) = cot0
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3. sin?@ + cos?0 =2
sin?0 + cos?0 = 2
@ sin25°.c0s65° + c0s25°.sin65° = 2
sin25°.c0s65° + c0s25°.sin65° = 2
5. sin30° & A c0s60° & A9 & IRER BT T |
The value of Sin30° is equal to c0S60°

Jfd og s a1 (Very short Answer question):

1. AT =g PTG —

cos80° sin31°

_I_
sin10°  co0s59°

Find the value -

cos80° sin31°

_I_
sin10°  co0s59°

2. A ST PG —

sin?35° + sin%55°

S
&

& Find the value -
¢ sin?35° + sin?55°
3. HA Sid Ef§||\LT|Q —

tan40°
cot50°

Find the value -

tan40°
cot50°

A ST DINY —
3¢c0s80°. cosec10° + 2c0s59°. cosec31°
Find the value -

3c0s80°. cosec10° + 2c0s59°. cosec31°
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5. g @Iig —

@9 Prove that -

Sin63°.cos27° + cos63°.sin27° =1

Sin63°.cos27° + cos63°.sin27° =1

6. Rig PIfoiv —
cotl + tanf = cosecB.secH
Prove that -
cotl + tand = cosecB.secO
. o R —
sec?0 + cosec’8 = sec?.cosec?0
Prove that -
sec?0 + cosec’0 = sec?6.cosec?0
8. Rig #IST -
sin*8 + cos*0 = sec?0 — cos?0
. Prove that -
‘\\ sin*0 + cos*0 = sec?6 — cos?0
&Y ST W9 (Long Answer Question): 6 3P (6 Mark)
1. Rrg ?IT -
1 — cos6
1+ cosd = cosecl — cotf
Prove that -
| 1 — cos6
1T cos cosec — cotf
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2. Rug e fd —

@ Prove that -

sin(90° — 8).cos(90° — @) =

sin(90° — 0).cos(90° —0) =

tanf

1+ cot?(90° — 0)

tanf

1+ cot?(90° — 0)

3. fug Fifow f& —
cos6 sin(90° — @)
sec(90°—6) +1 * cosecd —1 2tand
t Prove that
cos6 sin(90° — 6)
sec(90°—6) + 1 * cosecd —1 "
4. g oifT &
sin6 1+ cos6
1+ cos6 \ sind g
Prove that
\ sin@ 1 + cos6 — 2cosech

1+ cos6 T sin6
7. Ife cosO — sind = V2sinf B A R4g BT b cosh + sin = vV2cos

If cos@ — sin8 = V2sind then, Prove that cos — sind = /2siné

8. Ife x = acosecOd TAT y = bcotf =1 A1 Rig P &

xZ

2

y

— =1

a2

xZ

b2

If x = acosecO and y = bcot6 then prove that

2

y

— =1

a2

b2
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9.

(4

10.

11.

12,

JUIHROT BT DI IfT 0° < 9 < 90°

25in?60 + cos =1

Solve the trigonometric equation if 0° < 6 < 90°

2sin%6 + cosf =1

IR FHIHR0T 8o dIfoTe Ife 0° < 0 < 90°

cosf N cos6 f
1—sin® 1+ sinf

Solve the trigonometric equation : if 0° < 8 < 90°

cos@ h cos6 _
1—sind 1+sin

AR FHHReT 8o diforg, afe 0° < A < 90°

cos@ cosf
2

+ =
cosec +1 cosecd —1

Solve the trigonometric equation

cos6 cos@

+ =
cosecd +1 cosecd — 1

U HMR & 3MMER Y b TRl &1 H @ 3R b g WR Rerd a7 fdgafl | 49R
® R B I~ DI R®ep DI 2| d Rig DI fb AR B S8 Vab

BT |

The angle of elevation of the top of a tower from the points at distances a and b meters

from the base and in the same straight line with it are complementary. Prove that the

height of the tower is vab meters.
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13.

(4

14,

U HiQR BT RRER Tl I WR & 3vs] YA & [l fdg R Haer 30° 3iR
60° BT PBIUT JART BT & Ife TR & Hars 10 Hex 8 Il 30 Pl TS
ST P |

There is a flagstaff on a tower of temple of height 10m. At a point on a ground the angle

of elevation of the foot and top of the flag are 30° and 60°. Find the height of flagstaff.
Sl BAT W TC U Ug BT RN gh B US @ UIe ¥ 6 HIek Bl g UR S| Bl el
2| I f2xar S | 60° BT BIT G B | US BT SAs AT DI |

A tree breaks due to storm and the broken part bends, So that the top of the tree touches
the ground making an angle of 60° with the ground the distance between the feet of the

tree to the point where the top touches the ground is 6m. Find the height of the tree.
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THRS 5 — SATHIT

UNIT S - GEOMETRY

Eﬁ%ﬁquﬁﬁ'ﬂ, (Choose the correct option:): 1 31 (1 Mark)

1. 3 EFEY NSt o SEhal BT STATT 25:49 & A1 STeh! T SIS o STIITA &:
H. 5.7 . 7:5
4. 25:49 <. 49:25

If the ratio of the areas of two similar triangles is 25:49, then the ratio of %\

their corresponding sides is:
A.5:7 B.7:5

C.25:49 D. 49:25

2. FEhT A o HEE 10T BT AT B &

31.90° 9. 180°

¥.270° <. 360°
The sum of the angles in a cyclic quadrilateral is:
A.90° B. 180°

C. 270° D. 360°

3. THET BIS hil € e et 2

S REIE] . G

. FHTATIA EASEER]

Similar triangles have: =
A. Equal B. Parallel

C. Proportional D. Perpendicular
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4. If&¢ AABC ~ APQR 37T AB:PQ= 4/5, a5 BC:QR 2:

4 16
3. = o, —
5 25
2 5
9. - Q. —
3 4

If AABC ~ APQR and AB:PQ= 4/5, then BC:QR is:

4 16
A = B.—
5 25
2 5
C.- D.~
3 4 ¢
5. Weh I o JTd EH GervS G 0§ | 99 UeS shi Tcdsh ST ohg 0 Shi0T \\x\
ST =
3. 30° 9. 60°
g.72° 2. 90°

A regular pentagon is inscribed in a circle. Each side of the regular

pentagon forms an angle at the center of the circle is:

& A. 30° B. 60°

C. 72° D. 90°
feem Tamt St gfd I (Fill in the blanks): 1 37k (1 Mark)
1 oft vty T =l &l

All congruent polygons are
2 od A= X 7 i =
- The diameter of a circle = X radius of the circle.
3 I o ohg W ST I ST AT & ST b T 2

The perpendicular drawn from the centre of a circle to a chord

the chord.
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TSR TS o T 10T BT AT g 2l

The sum of opposite angles of a cyclic quadrilateral is

@ 5 o ! Ged S SaT I B 8l

The longest chord of a circle is the of the circle.

/A0 feTlRau (Write true/false:): 1 37k (1 Mark)

1 3 gWEY HTHA o AT H eIy ST e & S et Ui shed &
There is a special ratio in the measurements of two similar shapes called "scale
factor."

> i s Rt & e A e o el o g W\
By connecting three non-collinear points, only one circle can be drawn.

3 3 o U & TS H o hIVT STUH H S BN 2
In the same segment of a circle, the angles formed are equal to each other.

4 ITIA T Y 10T 180° T BIAT 2
Each angle of a rectangle is equal to 180°.

et fofg & i<l 8 Frsar o oht Tl v o waiaT il 2|

A radius drawn from the center of a circle to the point of contact is parallel to

the tangent line.

ﬁgﬁﬁﬁgﬂ-4 37k (Short Answers Questions-4 Marks):

1

g, FifSTT TwenToT B[t 5 oot 1 ot 319 a1 STt o6 3 o ART o SR Il &

Prove that in a right triangle, the square of the hypotenuse is equal to the sum

of the squares of the other two sides.
forg SIRTT I o g & AT W STt TR A e ht Fufgier T 2

Prove that the perpendicular drawn from the center of a circle to the chord

bisects the chord.
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eh 3l i 5T 5 SISt - 1 ot o ohs U 3 TtHiet sht gl ot feora Sfiam <A1 wismg
EIRERIEIN

If the radius of a circle is 5 centimetres, determine the length of a line segment

located 3 centimetres away from the center.

g ST < =S o T 0T o1 AT 180° BT 8
Prove that the sum of the opposite angles of a cyclic quadrilateral is 180°.

g, shifTe foprelt ey foig & 9 o Wil 715 T=t el hi SAemgar sar gil ol

Prove that the lengths of tangents drawn from an external point to a circle are

equal.

afd PAB I il & @1 &, ST 9 &l A 3R B T gfd=eg il & 7 PT Tusi
Ce| (e U RTHCIHWED

PA X PB =PT?

If PAB is a chord of a circle that intersects the circle at points A and B, and PT

is a tangent to the circle at point P, then prove that

PA X PB = PT?

T BIST ABC # ADLBC @, i fog shifSe for
AB?+ CD* =BD* + AC?
ABC is a triangle, in which AD_LBC then prove that
AB?+ CD* = BD* + AC?

Th ST ABC TS £.C @HehI01 2] 913l CA 3T CB W ha: foig D A E

AE? + BD? = AB® + DE?

In triangle ABC with ZC is right angle and points D and E on sides CA and
CB respectively, prove

AE? + BD? = AB® + DE?
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e I U2I-5 3ieh (Long Answers Questions-5 Marks):

1

AABC o 9RITd I sl ToHT ShiISTT, STRT AB=3 HeTHIeY, BC= 4 HeHIeX 3K £LB=
90°, ToAT = g +f feifiay

Construct the circumcircle of AABC, where AB = 3 centimetres, BC = 4

centimetres, and ZB = 90°. Also, write the construction of steps also.
AABC 3 3id: I &l ToHT shITSIT, AB=BC=CA= 6 HHI, T o g W feTRay

Construct the incircle in AABC, where AB = BC = CA = 6 centimetres. Also,

write the construction of steps.

AABC o 9NET ahf ToHT IS, STEt BC=7 HaHIey, £B= 45°, ZA=105°, AT

& ug ) farfay

Construct the circumcircle of triangle ABC, where BC = 7 centimetres, £ZB =

45°, LA =105°. Also, write the steps of construction.

AABC  9ieTd g ol o1 hifST, S8 BC= 6 HeHiet, ZB= 70° 3K AB=5
HAHTER, AT o U o faRaw)

Construct the circumcircle of triangle ABC, where BC = 6 centimetres, £B =

70°, and AB = 5 centimetres. Also, write the construction of steps.

Tk PIYST ABC sHTST, S8 BC=5.5 €eHiet, LABC= 75° 3T LACB=45° 39
Prst o TH&Y T BT XYZ sse, o YzZ-= % BC =l

Construct a triangle ABC where BC = 5.5 centimetres, ZABC = 75°, and

5
£ ACB=45°. Also, construct a similar triangle XYZ where YZ = ’ BC.
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TRTZ 6 - TTTOTCATT HAAT kT ST

UNIT 6 - CHECKING MATHEMATICAL STATEMENTS

&

Fﬁ%ﬁqu%@ (Select the correct option:): 1 37 (1 Mark)
1. =T % St BT o1 AT B

3. 90° . 180°

9. 360° <. 540°

The sum of the interior angles of a quadrilateral is: %\
% A. 90° B. 180°

C. 360° D. 540°

2. 31 gH G T SIS Had 2idl &:

. 91 &l . foww g
T, 9u 3R fowm den T H W RS a
P The sum of two even numbers is always:
\Q\\ A. Even number B.oddnumber
C. Even and odd number D. none of these
fees Tamat St afd I (Fill in the blanks): 1 37 (1 Mark)
1 QERN H SIS G BT 2
The sum of two numbers is number.
2 foww s AT BT
‘6 The square of an odd number is number. 'L_l
3 farelt Boge 6 i i AT B

The sum of the interior angles of a triangle is
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T/ falRau (Write true/false:): 1 37 (1 Mark)

1

foreft ameafares dwam x & faw x2 2 0.
For any real number x, x> 2 0.

Tt sTvTe W fowm Bt R

All prime numbers are odd.

ol SV U ST BId B

All polygons have five sides.

gt areafaes gt ufEg gdl R
All real numbers are irrational.
ooff o T 2 | 9re e T R

All even numbers are not divisible by 2.

E’gﬁﬁ'ﬂ'gﬂﬁ 37k (Short Answers Questions-3 Marks):

1

g TSI fop 2K +7 Wk forem qurieh 81 STei K T qUTieh &
Prove that 2K+7 is an odd integer, where K is an integer.

g 1T 7oF 4m +9 T forem qurieh & 8T m T oIt
Prove that 4m + 9 is an odd integer, where m is an integer.
forg shifsTe for forem Seamett o1 ot foww de B 7

Prove that the square of an odd number is an odd number.
g TSI fo6 21w o1 Sitg gHeT forsm € gidt 2

Prove that the sum of two numbers is always an odd number.
forg hifsru for 21 dwareti o1 Siie ¥ea 9x 9T Bid] Rl

Prove that the sum of two numbers is always an even number.

firg fifSTe for foret oft i shaTTa o EeaTa Y T T SRR 6 T OIS Bl 2

Prove that the sum of any three consecutive even numbers is always a multiple

of 6.
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THTS 7 — SETHT

UNIT 7 - MENSURATION

WWWW@'&I‘Q (Select the correct option:): 1 37k (1 Mark)
1. r Frear amet sTefiiet st |quf g8 g &:

A, 211’ . 37T

. 41117 3. Tr’

The whole surface of a hemisphere of radius r is:

A.2TTr B. 371’

C. 411 D. 7tr’

Afe =TV 3 9[SITT a TS, b TS, ¢ IS &1 AT SATH T SRR forsh0l GRTT:
s.v/a? + b? a.vVb? + c?

. Va2 + c? z.Va? + b2 + c2

If the edges of a cuboid are of lengths a units, b units, ¢ units, then the space

diagonal of the cuboid will be:

A.Va? + b2 B. Vb2 + (2
c.va? + c? D.Va? + b2 + c?

. eh X o1 ATE 6 HAHIET TR FH18 4 HAHIeT & 1 3isp ohl foeder St g

3. 3 BT 9. 4 9
. 5 gdHiex 2. 6 G
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If the diameter of a cone is 6 cm and height is 4 cm, then the slant height of

the cone will be:

A.3 cm B.4 cm

C.5cm D. 6 cm

. S o ST hT &h 167T 71 GiHIeT B, dl 3geh! fHsar gt
3, 2 G . 4 GdHeX

. 16 Gl 3. 7T e

If the area of the base of the cylinder is 16 7T square centimeter, then its radius

will be:

A.2cm B.4 cm

C. 16 cm D. TT centimeter
. O % IS Sl G Bt

H.6 d. 8

9. 12 <. 16

The number of vertices of the cube is:

A.6 B. 8
C.12 D. 16
fes TaTt St gfd IR (Fill in the blanks):
BT 7 STTehTef fererutt ot e we =l 2
The total number of space diagonals in a cuboid is
o o SATeRTRiT oot sht ofeTs TR S |
The length of the space diagonal of a cube is units.
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3 S T R = X e T G |
The volume of a cylinder = X volume of a cone.
@ 4 Uk TRTS ST AT ek T ST o $ohTS BT |
The volume of a sphere with a unit radius will be cubic units.
5 TN o hRI T T BT |
The number of vertices in a cuboid is
6 TIicT kT YT Sk, ST IS % o % &het T RIS |
The surface area of a sphere is times the area of a circle with the

same radius.

7 /% o AT I &R % AAhel & IS AT & |

The base area of a cone is equal to the area of

8 14 U UTE It 37 i sht BrsaT GAHieT Bt |

The radius of a hemisphere with a diameter of 14 cm will be cm.
TeT/21aed TTRIU (Write true/false:): 1 37k (1 Mark)
1 o ol |t Tk Ao B © |
All faces of a cuboid are square-shaped.

2 ST TS T &AHA el T a5k I8 BT 7 |

The area of a rectangular paper is the curved surface of a cylinder.
3 S 1 Gl I8 S ST = 27Urh,

The total surface area of a cylinder is = 2TTrh.

2
4 37 T T I 5m3 2T e |

8 ,
% The volume of a hemisphere is 3 T
5 o9 % %l [AeRUIT %! §EAT 16 Bl 2

The total number of diagonals in a cube is 16.
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E’gﬁﬂ'ﬂgﬁ-fi 31h (Short Answers Questions-3 Marks):

Teh SIcT o STTIR T BISAT 14 T Famg 10 HEHI © oI o I3RS i &t
EIRERIEIN

Find the curved surface area of a cylinder with a radius of 14 cm and a height

of 10 cm.
3 U T ATl e Sl o SATER 6T BT 2:5 % 9 | 8, A 76
HTIAHT shT STAT HT hITS|

If the bases of two similar cylindrical containers have a ratio of their radii as 2:5

and they have the same height, find the ratio of their volumes.

T Y% o TGN T B 7 Hiet X Fa18 15 HeIHiet ) 3% 1 A J1a
ifs

The base of a cone has a radius of 7 cm and a height of 15 cm. Find the volume

of the cone.

e e T A5hYE 3571 1 SIS 8| ATe $Heh SR 1 o419 14 HeTHiet a1 dt 36eh!
[REEACEIEISEIE I

The curved surface area of a cone is 35TT square cm. If its radius is 14 cm, find

its slant height.
Teh Tt 3T IETT &1l 154 T GeTHISK B Tt 3T SAT6 JI1d shitery)

The lateral surface area of a sphere is 154 square cm. Find the diameter of the

sphere.

T TTIeT ST AT 28 HEHIEK 71 TTiet T IR &he [T hitsTy)|

The diameter of a sphere is 28 cm. Find its surface area.

3T oS U I T hl TS J1d hISTT, ST 10 HeX a1, 10 Hied ST R 5 Hied 39

FHL T TET ST GehdT 2

Determine the height of the largest pole that can be placed in a room that is 10

meters long, 10 meters wide, and 5 meters high.
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E’gﬁﬂ'ﬂg%TA 37k (Short Answers Questions-4 Marks):

Teh SIe o STTER Al Brsar 14 §AHiet 3R Sam8 10 HEHI B1 e T Iohys a0
GO I8 T &t J1d TSy
The base radius of a cylinder is 14 cm and its height is 10 cm. Find the curved

surface area and the total surface area of the cylinder.

Teh I o 95k I8 3T &A%d 3696 T HSHIE 2| AfG o o STIR 6t Brsam 14
TN 2 AT St ohl ST ATd shifsTg)

The curved surface area of a cylinder is 3696 square cm. If the base radius of

the cylinder is 14 cm, find its height.

Teh ST Rl ST 3R T8 SHHT: 3080 O GiHieT 3T 20 GdHie 8, aa e
T 35k 5 T &% J1d hiTT|

The volume and height of a cylinder are 3080 cubic cm and 20 cm respectively.

Find the curved surface area of the cylinder.

Teh S I oIt o TR hl afefer 44 TAHex 2, 3T et i S=rg 10 T 2

QT ST T J5h T8 &1t 3T ST F1d hifey

The circumference of the base of a cylindrical container is 44 cm, and its height

is 10 cm. Find the curved surface area and volume of the cylinder.

R1% o HTHR 6 o § 65TT T HIST FHYST T 2| T h1 foefeh arg 13 e 21

39T FTe q B Jra hifs

A tent shaped like a cylinder has canvas covering an area of 65TT square meters.

The tent's slant height is 13 meters. Find its height and radius.
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10

11

Teh X% SR el 3T Halg 5 HIS qT TR <kl Brsar 12 #iex & at 3ueh! fade
TS QT de ol S H A ATt [aaTeT (Sha¥) T AN Hed Jd hifsig) Ffd
ST 7 T70 Wi T HeT 7l

If a tent-shaped like a cone has a height of 5 meters and a base radius of 12
meters, find its slant height and the cost of canvas used to make the tent if it
costs ¥70 per square meter.

TS T 1% o SATIR 1 AT 14 HEHIT T Fel1s 24 HIHieT 2, AT 35 1 €0l
T ST QAT TUT ST JTd shiST)

If the base radius of a cone is 14 cm and its height is 24 cm, find the total surface

area and volume of the cone.

TS Tt 1 AT 12 HHIe 2, A et o1 g &Thet qeT SR 1d it

If the diameter of a sphere is 12 cm, find its surface area and volume.

g o o micrat st Freht Breamd 6 deiier, § Teier 3t 10 TR 7,
[UErATeRt Ueh STST 316 7T ST ST 2] SIS T AU et skt B 31 hifs
Three solid iron spheres with radii of 6 cm, 8 cm, and 10 cm are melted down

to form a single large solid sphere. Find the radius of the resulting sphere.

2 T B et 64 MR st TUEATeRt Teh ST T SR T 51 el sh
e Sra hifsg)

Sixty-four small iron spheres with radii of 2 cm each are melted down to form

a single large solid sphere. Find the radius of the resulting sphere.

31 B TTIeA o TG okl STUTT 64:27 21 §7oh I8 &% 3BT AT J1d shiS1T|

The ratio of the volumes of two solid spheres is 64:27. Find the ratio of their

surface areas.
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12

13

14

forgt ot Weh Yich STEehl TS 24 GHIeT 37T 3R <t B3 6 ddiier @ o

A

ST A § IIafad ot 2dT 81 39 e shi /<31 T ehifoTg)

A clay cone with a height of 24 cm and a base radius of 6 cm is transformed into

a sphere by a child. Find the radius of the sphere formed.
Teh Tt 3T ST T shitere, TSreent e aihet 154 it Gt B

Find the volume of a sphere whose lateral surface area is 154 square cm.

T 319 T ol SaTs 10 HAHTR TR = 20 HEHiet & 390 Tome 2 St =
Tt foRa Tt SFTT ST Hehel © |

A solid cone has a height of 10 cm and diameter of 20 cm. How many smaller

spheres with a radius of 2 cm can be formed by melting down this larger cone?
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TehTS 8 — HiTsTeht
UNIT 8 - STATISTICS
@ Afd g 3T TH-2 37 (Very Short Answers Questions-2 Marks):

1 9w 10 99 SIS ol 3NEd J1d hITST |

Find the average of the first 10 even numbers.

2 fatafagd ATeret shi HTTS™eRT J1d hifTT |

22,20, 24, 16, 18, 26, 21.

Calculate the median of the following numbers:

22,20, 24, 16, 18, 26, 21.
3 YW H YTehd HEATT T ST F1d Hhiferg
Determine the mean of the first ten natural numbers.
4 RS 3,6,9,12, 15, 18,21, 24 T GHIAL HTET JTd HIFST)
S Find the arithmetic mean of the numbers 3, 6, 9, 12, 15, 18, 21, 24.
5 Frfiaa siiere 1 sgere I FIR
56, 39, 94, 36, 39, 15, 39, 40.
Calculate the mode of the numbers:
56, 39, 94, 36, 39, 15, 39, 40.

6 famfafga stieret skt arfegen F1d Hifsu)
117, 106, 123, 110, 125, 112, 115, 102, 100, 115

Find the median of the following numbers:

117,106, 123, 110, 125, 112, 115, 102, 100, 115
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Fl'gﬁﬂ'qg%TA 37k (Short Answers Questions-4 Marks):

1.

3.

2.

T |l sh1 sigetes JTd i)
TR 0-10 10-20 20-30 30-40 40-50
I 4 10 16 12 8
Calculate the mode of the given table.
Class interval 0-10 10-20 20-30 30-40 40-50
Frequency 4 10 16 12 8
T AToft skt wTfeerent F1a i)
I 0-10 10-20 20-30 30-40 40-50 50-60
EICIN] 4 6 7 3 2
Find the median of the given table.
Class
_ 0-10 10-20 20-30 30-40 40-50 50-60
interval
Frequency 4 6 10 7 3 2
e Aot & gy AT ra shifsg)
3 (x) 5 15 25 35 45 55
SR (f) 5 3 13 18 8 6
Calculate the arithmetic mean of the given table.
Marks (x) 5 15 25 35 45 55
Frequency (f) 5 3 13 18 8 6
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4, U foadty stadia forehe Hel H gd ¥ TgarSii g foIg g et foreket sht
AT o FTohg dTcTshT H 4T TU & 7 HhS! ohT Sgeteh F1d shi 11|

ICETAED

) 0-50 50-100 100-150 | 150-200 | 200-250 | 250-300
AT
TSIl ohl

) 4 5 16 12 3 2
=T

Determine the mode of the total wickets taken by various bowlers in a one-day

international cricket match. The numbers are provided in the table.

No. of
,OO 0-50 50-100 | 100-150 | 150-200 | 200-250 | 250-300
wickets
No. of

4 5 16 12 3 2
bowlers

5. oA AT ST & Ble-ag dedi (farnfam) & g & Aiwe fau mu g

TRl T HIET FTd hIFST)
ESERCI
5 30-40 40-50 50-60 60-70 70-80
& forenferat
. 11 29 6 3 1

Find the mean of the weights of small and big children (students) of a higher

secondary school.

Weight in
, 30-40 40-50 50-60 60-70 70-80
kilograms
No. of
11 29 6 3 1
students
| o0
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